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AMKE |1 6:42 FG | #19 F % 37
AMKZE | 2 0:03 FG | #19 F% 22
AMKZE | 2 5:57 FG | #19 T8 28
EREEkE | 2 | 11:54 FG | #13 FH 40
AMKZE | 4 3:53 RUN | #20 WO 1 #19 ¥ G
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F— L& BEEZERKE HIN K
1.97—RME oY E# (5> —/ 2 —&Al) 11(4—3—4) 16(12—3—1)
2.8 A - —®/AE2—tT+ 27—9-3 15—6—1
wEv—K | tisyds| 161Yds
3.V E#—EFVY—F 24—179Yds 36—210Yds
4 E E#—EFVY—F 51—194Yds 51—371Yds
5.5 Al [E] % — SR Vv —F 2—5Yds 7—51Yds
6. 777 L [E] % — $& 0—0 0—0
7.74—LEd—)L [E] %% — B2 1—1 3—-3
T KRZITESY15E B DY—J 2

AMEETAY ATy bR—ILER




[l PN

PASS

= |&H Ax I | ¥—=F | TD [ INT
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el EAT E#% | ¥—F| TD H5 |4 @4 | ¥—FK | TD
32 5i5 fLIE 12 14 0 13 === ;I E 100 0
1 WA BR 10 45 0
8 wEE 1 3 0
14 hE IhEE 1 17 0
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8 w EE 2 27 0
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